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ioDrive Capacity B0GB 160GB 320GB

NAND Type Single Level Cell (SLC) Single Lavd Call (SLC) Mulde Level Cell (ML)

Wiite Bandwith 550 MBy{s (random 16K) 600 MB /s {rand om 16K) 500 MB/s (random 16K)

Read Bandwith 700 MB{s (random 16K) 700 MB /s {(rand om 16K) 700 MB/s (random 32K)

IOPS* 102,000{random 4K reads) 104,400(random 4K reads) 60,000(rand om 4K reads)
91,000{random 4K writes) 103,925{(random 4K wntes) 79,000{random 4K writes)

88, 000{70/30 random 4K mig 95,000(70/30 random 4K mix) 65, 000{70/30 random 4K mix)

Access Latency 50ps Read S50ps Read 80ps Read

Bus Interface PCI-Express »4

Weight Less than 2 ounces

__ Operating Svstern BHEL 4 &5 SIFS 9 & 10, Microsoft 64 -Bit Windows**

Operating System

Sophisticated ECC 24yrs Abyrs layrs

(@5-TB wnte-erase/day)

¥ Paitormance datz provided by Medusa Lab. Y84-8it Windows XF, Vista, Server 2003 & 20085
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> EH|AE 3:SQL Server — Index Scan vs Index Lookup

ChZrol GIOIE{S Q0{0f She ZQ2tH, AIHMAS Sofots HEBCH AYAS AWSHE HO| WED, 1 HE
SSDi= 9| HIAEO|A MHESHS0|, B ME I0PSS
YO SSDEHOIM BE GlO|ES Q0jof ste FL0| 2YSE K2

of2ff HAEE 7GBYEC| HOHE Y 2 QYA SIES ALESI0 QHA A7 QIEA S0 s SEAIZHS Bl AS L CL

eS| ZE22 2ot 2CpH SCANE Y2 10X, LookupZt 2 15X HE o ELH&LCH

AAILL SCANO| Lookup =Lt Rt L|C SFXA|R A[ZHO] 158 =8I0 XHO|7t LIX| 2 HE F=oi0F & A YLCh
SELECT COUNT(*) FROM TBL with(index(1),nolock)
/*
E|O]S'thl. Z4AH4:9, =2|%Q17|4:1002491, 22|X 97|4:14078, 0|2|27|4:1002490

, LOB =2|H87|0, LOB =2|X & 7|40, LOB O|2|8]7|=0.

SQL Server AZHA|ZE
CPU A|Zt= 2485222, AItA|ZH= 104042| =
*/

Azl 1 Al dl=E 22 AMelz "l 1oos
SELECT COUNT{*) FROM TEL with(index(1),nolock)
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SELECT — Compute Scalar +——— Stream Rggregste — Parallelis=m =1 S L T L LY R R — ] stered Index Scan (Clustered)
HE: 0% HE: o= [Lggregate) (Gather Stresms) [Rggregate) [tbl]. [cl_tbl]
= = HIZ: o= HIZ: o= HIZ: o= HIZ- 100%

SELECT COUNT(col2) FROM tbl WITH(INDEX(2),nolock)
/*
HO|='tbl'. AM==9, =2|MQl7|4=12043916, =2|M 87|4=2790, O|2|847|41006198

[



,LOB =2|X&7|=0, LOB =2[XH8]7|=0, LOB O]|2| & 7|=0.

E| 0| = 'Worktable'. 248

0, =2|H&7|+0, =2|H817|=0, O[2|&7[=0
o

, LOB =2|X&7|=0, LOB =2[X8]7|=0, LOB O]|2|&7|=0.

CPU A|Zt= 317972 2| =,
*/

ZItA|ZE= 158982 2| =

2l 1: FH2l HE 22 A2z Hlny: 100
SELECT COUNT|=olz) FRON thl WITH(IMDEX (2], nolock)

3}:
53
IE

-

=

3}:
b
=

fel

b

Compute Scalar +———— Stream Rggregate ™ Parzlleli=m #——— Stream Aggregate | Nested Loops Index Secan (NonClustered)
HZ: o= (Aggregate) (Gather Streams) ({Bggregate) {Inner Join} [thl] _ [ix thl]
HE: 0% HE: o HZ: os HZ: os HZ: o=
=:.u:~j
mE
Key Lookup (Clustered)

[tbl].[cl_tbl]
HE: 1008
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=c|d x=Ztolo] }E Eo|= SCAN £

12000 089
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% 8000
§% 6005 5991
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31
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2000 -
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DISK SSD
USE [master]

GO

CREATE DATABASE [TEST] ON PRIMARY
( NAME = N'TEST', FILENAME = N'F:#DBData#TEST.mdf' , MAXSIZE = UNLIMITED, FILEGROWTH = 1024KB )
LOG ON ( NAME = N'TEST_log', FILENAME = N'D:WDBlogWTEST_log.ldf', MAXSIZE = 2048GB , FILEGROWTH = 10%)

CREATE DATABASE [TEST1] ON PRIMARY
( NAME = N'TEST1', FILENAME = N'F:WDBDataWTEST1.mdf' , MAXSIZE = UNLIMITED, FILEGROWTH = 1024KB )
LOG ON ( NAME = N'TEST1_log', FILENAME = N'D:WDBlogWTEST1_log.ldf' , MAXSIZE = 2048GB , FILEGROWTH = 10%)

CREATE DATABASE [TEST2] ON  PRIMARY
( NAME = N'TEST2', FILENAME = N'F:WDBDataWTEST2.mdf' ,SIZE=5GB , MAXSIZE = UNLIMITED, FILEGROWTH = 1024KB )
LOG ON ( NAME = N'TEST2_log', FILENAME = N'D:#DBlogWTEST2_log.Idf' , SIZE = 5GB , MAXSIZE = 2048GB , FILEGROWTH = 10%)



DECLARE @I VARCHAR(100)

SET @I= '4'
WHILE 1=1
BEGIN

EXEC ('ALTER DATABASE TEST MODIFY FILE(NAME = "TEST",SIZE="+@I+")")
EXEC ('ALTER DATABASE TEST1 MODIFY FILE(NAME = "TEST1",SIZE="+@I+")")

SET @I=@I+1
IF @I=5000 BREAK
END

/*
H 2 EE 25140002t AT EF5GB H = O| | O] B & & 2 ohC.
*/
SELECT TOP 40000000
row_number() over(order by (select 1)) as coll
,cast(" as char(100)) col2
INTO test..tbl
FROM master.dbo.spt_values A master.dbo.spt_values Al master.dbo.spt_values A2 master.dbo.spt_values A3

SELECT TOP 40000000
row_number() over(order by (select 1)) as coll
,cast(" as char(100)) col2
INTO test2..tbl
FROM master.dbo.spt_values A master.dbo.spt_values Al master.dbo.spt_values A2 master.dbo.spt_values A3



exec sp_msforeachtable 'checkpoint 1'

dbcc dropcleanbuffers

SET STATISTICS TIME ON
SET STATISTICS 10 ON

- m2z} e

SELECT COUNT(*) FROM test.dbo.tbl

BOlE thl' HA & 9, =2l 97| 4 579712, 22| 97| 4 7258, 02| 97| 4 579711 LOB =2X 2i7| 4 0,108 B2|H 97| % 0,108 0/2| Y47| + 0
CPU Al7ZF =103592 2|z, ZAF AlZF = 60052 2| =

- Zm2tsh A oty

SELECT COUNT(*) FROM test2.dbo.tbl

BlOlE thl' ZA 4 9, =2l 97| 4 579712, 22| 97| 4 7190, 02| 97| 4 579711 LOB =2|X 2i7| 4 0,L0B B2|X 97| 4 0,L0B 0]2] 7| + 0

CPU AlZt =98912 2|z, ZAuf AlZE = 59912 2|

SET STATISTICS TIME OFF
SET STATISTICS 10 OFF

H= 2, DB 2tZ0| SSDE HEHHo 2 ArgotA CtEH, oXf C|A3 7|gte] o247k X7t Al2tE A2z EYLCh
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